KABELSTRANG SUPER COMPETITION OHNE BLINKER
WIRING HARNESS SUPER COMPETITION WITHOUT FLASHER

620 SUPER-COMP WP/ 19kW <1995><FR><872359>
WIRING HARNESS

Pos Part Number Description Additional Text Quantity
0 44011076200 Cable tie 200/4.6mm black 0.00
0 44011076305 CABLE TIE 300/4,8MM BLACK 0.00
1 58311275000 MAIN WIRING HARNESS 4STR. '93 1.00
2 58311276000 REAR WIRNING HARNESS '93 1.00
3 58311070000 LIGHT SWITCH CEV 9607 '93 1.00
5 54611083100 BRACKET FOR CONNECTOR '93 1.00
6 0015060163 HH COLLAR SCREW M 6X16 WS=8 FE, FS 2.00
7 0021060003 Washer DIN9021-A 6.4 ONLY USA 1.00
8 0014060103 HH COLLAR SCREW M 6X10 WS=8 1.00
10 58011034500 VOLTAGE REGULATOR TYMPANIUM'90 2.00
11 0981550393 SHEET MET.SCR.DIN7981- 5,5X39 2.00
13 44011076180 * CABLE TIE 180MM 0.00
30 42013121000 BRAKE LIGHT SWITCH 1.00
32 51011050000 FRONT BRAKE LIGHT SWITCH 1.00
60 54411060000 % AC HORN 12V TR8 1.00
61 58307021000 BRACKET FOR HORN '93 1.00
62 54603048100 clip nut M6 2.00
64 0015060123 HH COLLAR SCREW M 6X12 WS=8 2.00
65 49001426000 RUBBER GROMMET 20X10-M6X12 (2) 1.00
66 0934060003 Hex. nut DIN 934 M6 2.00

26750



67

0797060003

TOOTH LOCK WASH. DIN6797-A 6,4

0.00

68

50210086000

Plug SFL16

1.00




